
Great Plains Manufacturing, Inc. 1
Air-Pro®Planters Actuator Field Kit

General Information

These instructions explain how to install an Actuator
Field Kit. One kit updates one planter:

Tools Required
• basic hand tools
• die grinder or cutoff wheel
• 8 ft ladder
• safety glasses and gloves

Work Location
Move the implement to a flat location with enough room
to unfold wings of implement.

Falling Hazard:
Practice caution when working on elevated surfaces. Make
sure any ladders used have solid footing.

Notations and Conventions

Call-Outs

Null4:

Used with YP Air-Pro® Planters:
• YP1225A/1625A
• YP2425A
• YP3025A

When you see this symbol, the subsequent
instructions and warnings are serious - follow
without exception. Your life and the lives of oth-
ers depend on it!

Kit Kit Description
403-616A Actuator Field Kit

Figure 1
Actuator Field Kit

32495

U

D
B

F

L

R

Null4:“Left” and “Right” are facing in the
direction of machine travel. An orienta-
tion rose in the line art illustrations
shows the directions of Left, Right,
Front, Back, Up, Down.

 to Single-digit callouts identify components in
the currently referenced Figure. These num-
bers may be reused for different items from
page to page.

 to Two-digit callouts in the range 11 to 23 refer-
ence new parts from the list on page 6.

U

D
L

R

B

F

1 9

11 23

• YP4025A
• 3PYPA
© Copyright 2012 Printed 01/11/2012 401-809M



2 Great Plains Manufacturing, Inc. Actuator Field Kit
Remove Old Actuator

Refer to Figure 2
1. Unfold machine.

Note: In some cases, but not all, the machine must be in
unfold position to access the actuator.

Note: In some cases a ladder is needed to reach the
actuator.

2. Before removing the old actuator, mark the air box
mount bracket so that the new actuator can be
assembled with the same orientation angle as the
old actuator.

3. Remove 4 bolts  attaching old actuator on air box
mount bracket.

4. Remove one bolt holding coupler shaft flats .

5. Undo weather pack.

Null4:

Install New Actuator

Refer to Figure 3 and Figure 4

Safety Hazard:
Always  wear protective equipment. Wear safety glasses and
gloves when using industrial tools.

6. The new actuator  will not fit correctly without
removing material from the bottom of the existing air
box actuator mount  (see Figure 4).

Place the template  supplied with the kit over the
actuator mount, lining up the slots on the template
with those on the mount and mark the area at the
bottom of the mount  to be removed.

Use a die grinder or cutoff wheel and remove the
area from the bottom of the bracket .

Figure 2
Old Actuator

32494

3/4in

1

12

1

12

Figure 3
Template

34002

3/4in

15

3

16

3

15

3

3

401-809M 01/11/2012



Install New Actuator (cont’d) Great Plains Manufacturing, Inc. 3
Install New Actuator (cont’d)

Refer to Figure 3
7. Select one:

 403-787D ACTUATOR ADAPTER PLATE
Select four each:

 802-004C HHCS 1/4-20X3/4 GR5
 803-006C NUT-HEX 1/4-20 PLT
 804-006C WASHER LOCK SPRING 1/4 PLT

Square actuator adaptor plate up against air box
mount bracket  on machine. Secure through four
center holes of adaptor plate using bolts , lock
washers  and nuts .

8. Mount actuator with the electrical connection facing
downward.

Select:
 467096051 DJ ACTUATOR ROTARY

Select four each:
 802-152C HHCS 1/4-20X2 GR5
 403-785D TUBE 5/8 X 10GA X 1.2
 804-006C WASHER LOCK SPRING 1/4 PLT
 803-006C NUT-HEX 1/4-20 PLT

Select eight:
 804-007C WASHER FLAT 1/4 SAE PLT

Loosely mount the actuator  to air box mount
bracket  with adaptor plate (previously installed in
step 7). Place four bolts  and flat washers
through slots of actuator mount plate (as shown),
then place tube  over bolt end and finally secure
with flat washers , lock spring washers  and
hex nuts  on back of air box mount bracket .

9. Select:
 403-783D COUPLER 1/2" SHAFT W/ FLATS

Select two each:
 802-159C HHCS 5/16-18X1 GR5
 803-011C NUT LOCK 5/16-18 PLT

Attach coupler shaft flats  to actuator shaft
using two bolts  and lock nuts .

10. The mounting hardware for the actuator is located in
slots to allow for adjustment. When installing a new
actuator, leave the mounting hardware loose until
the final adjustment is made.

a. Use the switchbox to electrically rotate the actua-
tor to one end of its travel.

b. Manually rotate the actuator housing until you feel
the vane make contact inside the valve. Back off just
slightly and tighten the hardware.

c. Be sure to operate the actuator through its full
range of travel before disconnecting the switchbox.

Figure 4
New Actuator

32495

3/4in

12

14

16
2

3

20
22

17
21

4

23

20
22

13

23
519

18

14

17

20

22

14

3

17

22 20

16

18

13

22

20

23

16

3

18 23

5

13

23 22

20 3

12

19

21

20 4

19 21
01/11/2012 401-809M



4 Great Plains Manufacturing, Inc. Actuator Field Kit
Finish Installing New Actuator

Refer to Figure 5
11. There is a bolt  not visible in photo (similar to

bolt ) located on the inside of the air box. It may
interfere with the fit of the new actuator and need to
be taken out and reversed to provide clearance for
the actuator.

12. Reattach weather pack.

Figure 5
Bolt Location

32494

3/4in 1

2

2

1

401-809M 01/11/2012



Finish Installing New Actuator Great Plains Manufacturing, Inc. 5
467980160 Actuator Harness.
Connected to the 467980851 WSMT Harness.

Servo 2 (Split Air Actuator Control.)

Split Air Actuator

Disconnect actuator from
extension harness here.

Connect both leads of
the switchbox to the
now open connectors.

The Actuator Switchbox is to be used for the troubleshooting of the spit air actuator on Air-Pro
planters as well as an aid in the proper installation of a replacement actuator if needed. DO
NOT USE THIS TOOL AS A REPLACEMENT FOR INTELLI-AG CONTROL DURING
PLANTING!  The switch is a spring centered momentary switch.  Moving the switch to one
side or the other will cause the actuator to rotate either clockwise or counter-clockwise.  When
the switch is released it will recenter itself and stop actuator motion.

Actuator troubleshooting and replacement.

1.  the actuator conatains an internal circuit breaker to protect the
    motor in case of torque overload.  To reset the breaker, umplug
    the actuator for 20 seconnds and then reconnect.  You should
    see the glow of a red light in the clear dome over the arrow.
2. The range of trave for the actuator is 60 degrees.  It contains
    internal  limit switches to hold it within that range.  The cavity
    in the valve housing allows the vane slightly more travel room
    than that.  Operate the actuator through its full range of travel
    with the switchbox to ensure there is no physical interference.
3. The mounting hardware for the actuator is located in slots to
    allow for adjusmtent.  When installing a new actuator, leave
    the mounting hardware loose until the final adjustment is made.

a.  Use the switchbox to electrically rotate the actuator
                    to one end of its travel.

b.  Manually rotate the actuator  housing until you
                   feel the vane make contact inside the valve.  Back
                   off just slightly and tighten the hardware.

c.   Be sure  to operate the actuator through its full
     range of travel before disconnecting the switchbox.

Split Air Actuator Switchbox
Planter harness must be electrically connected to tractor for switchbox to function.  If this is not possible, another
12VDC power supply needs to be connected to the tower connector of the switchbox harness (connector with only two
wires).  Pin A of the two wire connector is power and pin B is ground.

Null4:

34003
01/11/2012 401-809M



6

Appendix

Part Lists
New Parts

The part call-out numbers in this list match all Figures in
these installation instructions. Part descriptions match
those in your updated Parts Manual.

Quantities are units (“ea”).

Kit Contents

Abbreviations

403-616A Actuator Field Kit

Callout Quantity Part Number Part Description
11 1 401-809M MANUAL ACTUATOR FIELD KIT
12 2 403-783D COUPLER 1/2" SHAFT W/ FLATS
13 4 403-785D TUBE 5/8 X 10GA X 1.2
14 1 403-787D ACTUATOR ADAPTER PLATE
15 1 403-790D TEMPLATE
16 1 467096051 DJ ACTUATOR ROTARY
17 4 802-004C HHCS 1/4-20X3/4 GR5
18 4 802-152C HHCS 1/4-20X2 GR5
19 2 802-159C HHCS 5/16-18X1 GR5
20 8 803-006C NUT-HEX 1/4-20 PLT
21 2 803-011C NUT LOCK 5/16-18 PLT
22 8 804-006C WASHER LOCK SPRING 1/4 PLT
23 8 804-007C WASHER FLAT 1/4 SAE PLT

DJ Dickey-john PLTR Planter
GA Gauge RHSNB Round Head Shank Neck Bolt

GR5 Grade 5 SAE Society of Automotive Engineers (standard)
HHCS Hex Head Cap Screw SS Stainless Steel
HOP Hopper W with

PL/PLT Plated X by
Great Plains Manufacturing, Inc.
Corporate Office P.O. Box 5060

Salina, Kansas 67402-5060 USA

401-809M 01/11/2012


	Air-Pro®Planters Actuator Field Kit
	General Information
	Notations and Conventions

	Remove Old Actuator
	Install New Actuator
	Install New Actuator (cont’d)
	Finish Installing New Actuator
	Appendix


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.5
  /CompressObjects /All
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Perceptual
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /UseDeviceIndependentColorForImages
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 200
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 200
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Average
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice


